LEVEL 6

MATHEMATICS

REVISION WORKSHEET 4

CHAPTER 8: PERCENTAGE

1. Fill in the blanks:
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(ii) 50 % of 100 = ...............

2. Express the following as percentage:
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3. A school has 1500 students. Given that 3% of them were late for school on a
particular day, find the number of students who were punctual for school.

4. After an increase of 5%, Shirley’s monthly salary becomes $2205. Find her
original salary.

5. An elastic band which is 72cm long is stretched to 90cm. Find the
percentage increase in its length.

6. Express
(i) 6 % % as fraction

(ii) 0.7% as decimal



